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FIGURE 2.4
Schematic of a finite automaton
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FIGURE 2.5
Schematic of a pushdown automaton



The following is the formal description of the PDA from page 102 chart recognize:
the language {0"1"| n > 0}. Lec My be (2, E. T, 4. q;. F), where

@ ={q 0.0},

T = {0.1l,
r = {0.8},

F={q1.9a},and
4 15 given by the following table, wherein blank entries signify .
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{{g2. 00} {lgs, €]}

{[g. €1} {(q4, €]}

{(g2.3]}

state to state. We writeto signify that when the machine is reading
an_a from the input it may replace the symbol b on the top of the stack with a
| ¢. Any of a, b, and ¢ may be €. If a is €, the machine may make this transition
without reading any symbol from the input. If b is ¢, the machine may make this

transition without reading and popping any symbo

from the stack. If cis €, the

machine does not write any symbol on the stack when going along this transition.




This example illustrates a pushdown automaton that recognizes the language

{a't/c*|i,j,k > 0andi=jori=k}.




In this example we give a PDA M3 recognizing the language {ww®|w € {0,1}"}.
Recall that w® means w written backwards. The informal description of the PDA

follows.
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@ewpnote 1 YAOGoW L, ¢ onoiag ot GuUPOAOGEIPES TPOKVIITOLY U0 TOVS MUPUKATO
KUVOVES:

1. e L.
2. Av S £ L tote a1 051 € L.
3. Timoto dAAlo 0V OVI|KEL TV L eKTOC OV TPOKUMTEL O TOUS MUPUTAVE KUVOVEC.

Agv gival 6vokoko va 681 kamowog 01t L = {0717 n = 0}. n omola omems yvopilovls
OEV EVOL KOVOVIKY]. AVTO NoTl v ZEKWVICOVUIE Otd TNV WKPOTEPT GLUPOAOCEPE OV
UVI|KEL OTNV YAOGOW (TNV Kevi)) Kol e@opuolovios Tov Os0TEPO KOVOVU, UpPYICOVLE VO
“KOAAQUET O£S10 KOl OpIoTER CVTHS AOGOVS KUl WNosVIKG, Bo TApovlE GOUPOAOGEIPES
Tou Tomow 0717,

Av topu Beoprjcovpe o cvpPforo S cov o PETEBANTI) TOV UVOTOPIGTO OMOWOTTOTE
cupforoceipd ™S L, TOTE 01 TUPUTAVE KUVOVES LTOPOVY VO THEPOLY T1] LOPET

1. § — €

2. §5—051

Omov To GUUPor0 — anuoivel “Umopel va Tapet T T,



M YpopuaTIK) QveCApTHT GUUEPOLOUSYOY (AX) siven o tetpada G = (V, X, S, R),
omov 17 etvol Evo TEMEPUCIEVO GUVOAD UETASANTOV, X €IVl TO GUVOAD TGOV TEQUATIKEYV
ooufidiov ne VNE =@, S € V eivon ) apyixn netafint) kot R eivol Eve TETEPUGILEVO

GUVOLO Kavovey NG Hopon)c A — a. omov A 2 V kat a € (VU E)*.



@eopiate T vioooe P olov tav molwvépolukdv  cuuforocepav oto {0,117
Ivopilovpe ot ot £, 0, 1 sivonl TOAWOPOLUKES CUUPOAOCGEIPES KUt OTL, OV 1] & CVI|KEL GTHV
P, tote ko1 01 00, 1z1 ovijkovv oty P. Ot copPforoceipés g P pumopody va mapayBovy

and ) ypoppotky G = ({5},10,1}, S, R). émov 1o givoro TeV Kevovav R eivol To
S—e|l0]1
S — 050|151

H ypuppotkn) amoteisiton omd o ovo LeETafAnt., v S, n omoia sivor kot apyk). To
oLUVOA0 B amoTelsitul omd TOVS MEVIE KOVOVES oL Quivoviol mupandve. To coupoio

W

¢ évav koavova petagpdletor ‘M7, Etor o kavovag S — 050 | 151 wamotshet
ouwvTopoypogic v § — 0S50 1 § — 151. M tomxn) mopayoy) ms G eoivetm
0TI GLVEYELD:

S =050=-01510=-0115110=-0110110

To mpato Pruae ypnoworotel tov kovove S — 050, 1o 6e0TEpO Kot TPITO TOV KovOva
S — 151 xot 10 TeAevTOiO TO S — 0.



Eoto G = (V, X, 5, R) n ypoupanxn émov V = {St, ¥ = {+,—, /. (,),z,y} xu R

QmOTEAEITON ¢ TOVS KOVOVES
S—=5+5|5-5|5/5|5«x5|(8)]|z|y

H ypoupamiky) ot Tupdyel 1 YAQCCH 0LV TOV 0moToY gAveppikav ekppdosmy. O
OVUOPOLUKOS OPIGIOS OV OIVETOL G0 TOUS TUPUTOVE KOVOVES ONAMVEL OTL Umd OLO
OMOTEC EKQPUCELS, 1 VED EKQPOCT] LWTOPEL VU TPOKLYEL EITE EVOVOVTUS TS OVO |IE
eva oo Ta cupfoia 4. —. /. #, 1) TOMOBETOVTOS TV CpyKY| LEGH O moapevBeces. To
cUuufoia =,y mailovv TO POAO TOV LETUPANTOV OV LETEYOLY G OUTEC TIS OAYEPPIKES

EKQPUCELS. AVO TUMIKES TUPUYMOYES V1O TV EKQPUCT] * + = * y QUIVOVTOL TUpUKATO:
S=5S+5=ars4+S5S=r+5«5S5=2ct+trxS=rtrx*y
S=85+«5§=54+5+5=2x+5xS=r4+x+xS=axt+xxy

H mp®@TN o guTES TIC 000 QUIVETUL TEPIGCOTEPO “QUGIKT”, aEoV apyilel e TV EKQPUOT)
S+ 5 onA@voviog 0Tt EKEIVO TOD €YOVLE GTO VOV LOC EIVUL 1] TPOGHEGT] 0V0 EKQPUCEMV,
MG ¢ Kol TS 7 * y. OVTIOTOUGOVIOS OV EKQpuot) = + (x * y). H osdtepn amd v
GAAT] LEPLA EPLUIVEVEL TNV EKQPUOT] GOV YIVOUEVD. Apyilel pe v mopaymyn S = S Kot
OVTIOTOLEL TV ékopaan (= + =) * y. ‘Otav OU®S EYOVUE [0 EKQPUCT] TNC LOPONC
T+ * y, CUVI|BOS TV EPUNVEVOVLE OOV = + (= # y) KUt Oyt ooV (x + x) * y, EMEWON O

TOAAUTACCIUGOS + £YEL LEYUAVTEPT TPOTEPAIOTITO GO TNV TPOGHEST +.



I

Ag mpoomufncovle va Bpodue o ypoupoatikn v ™ yadooo L = {x € {0.1}*| n =
nepieyel meprocotepa 0 amo 1}.

Onme kol oto IMopadstyno 7.1 6o mpocrubnGovlEe voo OpiICOVUIE TNV L ovoopoLuKd.
[Topampniote npota ot 0 € L. Av tope r eivor o copforocepd g L, 10TE Ko
ot 0z, =0 8a aviikovv v L. AmO 00TEC TIS MUPUTNPTGEL TPOKUTTOVY Ol KUVOVES

S —0/0S|50

Go TPETEL TOPO VO EMTPEWYOVLE KUl TNV TUPOLCIH dCCMV, UAAMS 1) YPULNOTIKY) Ba
QIOTEASITOL MOVO om0 Wnosvikd. [0 vel TO KOVOLHE CuTd B ¥PNCULOTOMCOoULE 000
copforocepes =,y € L. Av GUVOLUGOVE OVTEC TS 0VO TOTE Bu £YOVUE TOLAAYIOTOV
ovo meprocotepa 0 omo 1, yott kaBe o and TC &, y TEPIEYEL TOLAUYIGTOV EVE TUPUTAVE
0 amd 1. Apu pmopovpe vo TPOGHEGOVLLE EVUY QOGO KOl 1) CUUPOAOGEIPA TOV TPOKVITTEL
Vo OVIKEL TdAL oV L. AVTOC 0 G000 WTOPEl Vo TPOGTEBEL OTU UPICTEPC, UVALEGU 1)
otol 01l TV r Kot y. O ovTIGTOL(01 KUVOVES E1VOL

S — 185|515 | SS1

Apa 1 Onrovpevn ypoupotik) G 6o OMOTEAEITOL OTO TOVS MUPUKATH KUVOVES

S —0[0S|S0|1SS|S1S|SS1



Qsopiote Lavd ) vhoooo Ly = {x € {0,1}7| n = agpéyet nepiocotepa 0 anod
1} tov Mopodeiypatos 7.4. Metovondloviag v apyki petafinm S o A, 7

vpappoatikny G 6ivetol amd TOVS TUPUKAT® KOVOVES:
A—0[|04 A0|1AA| A1A4 | AAl

Avtiotowa, av Lo eivon 1 vhdooa {x € {0,1}"| n = nepiéyer neprocodtepa 1 anod
0}. t61e o ypoupnotik Go mpokbntel oviioTpépovias Toug pdiovs tev 0 kot 1.

Ottoviac B o¢ v apykn netafinty, TeipvouLE TOLS KUVOVES
B—1|1B|B1|0BB | B0B | BBO

YnobBsote thpa 011 pog (nTeitol vo MCOVE g YPULULOTIKY Vid T1) YAOCGU
L éhov tov couPoroceipedv x € {0.1}" ot onoiec o apBpds tav 0 diapéper
amo tov ap1Bpo tov 1. Eivol eavepo o011 1 L umopsel vo sKQPUGTEL 0C 1) &veay
tov Li. Lo, Eiwdvoviog Aowtdov i vio appky petafintm) S kol tov Kavovao
S — A | B, padi pe tovg xavéves tov G kot Ga. 1) vEa ypoppotiki ekgpalst Ty
evoon tov L. Ls. H 10w teyvikn] pmopel vo e@ouplocTel Yo va 0siZovle OTL 1

EVOGN 000 omolImVONTOTE YAmaomv AX eival mait AX. To Bsopnpa mov axolovbel



Eoto L = {a't'c"| j = i+ k}. Oa mpocmaficouus va soupuoGODIE TiC 15£8C ToL
Qeopnuoatoc 7.2 v vo sxkppacovps Ty L oo T CUVEVEOOT OTAQDGTEPGYV YAMGTOV.
Mia mpatn mpoceyyion etvon va Begoopue L = L Lo Lz, omov o Tpel; YAMOTEC MEPE OLY
goufolocsipes amo a, b xo ¢, aovrioTotya. Kamn 1etoto opemc oonyel o Adaboc. H Ly
Wropel va memeyel o aa, 1 Lo 1o b wou 1 Ly 1o ¢, ouwe n L dev mepieysl to aabe, apov
o opmBuoc Tov b mpemel va etvol 100 UE TO abpoisia Tav @ Kol ¢

Yrapyst opec pie oystxa stwoin Avon. H couBolocepd a'b’ ¢, émov j = i + k pmopei
vaL Ypope ﬂ-z' b-z'—r'cc.f: | EpE bﬁ:ﬂk

Apa n L swvor n ooveveon teov L. Lo omov

Ly ={a'b'|i = 0} Lo = {b*c*| k = 0}
A—adb|e C —bCc|e



Ewcayovtos o veo petafinm 5 ko covevevovtas TiC apyikec uetafintec tov Ly
moipvoule Tous Kavoves i v L = Ly La:

5 — AC
A—adb|e
C'— bCe | e

[o mopadstypa n cvpfolocsipa abbbee = (ab) [E}Erzzj wropel vo mapaybetl oo eing:

S = AC = gAbC = abC = abbC'c = abbbCcc = abbbce



Ozopnna 7.2. O1 AOOGEC OVECOPTNTEC TUUPPALOUEVMY EIVOL KAEIOTEC C
TPOC TIC TPOCEIC Eveal), obvevwol] Kol aotepl Kleene.



Ozopnna 7.2. O1 AOOGEC OVECOPTNTEC TUUPPALOUEVMY EIVOL KAEIOTEC C
TPOC TIC TPOCEIC Eveal), obvevwol] Kol aotepl Kleene.
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Ozopnna 7.2. O1 AOOGEC OVECOPTNTEC TUUPPALOUEVMY EIVOL KAEIOTEC C
TPOC TIC TPOCEIC Eveal), obvevwol] Kol aotepl Kleene.

H ‘CO‘A";\,; n,)( G'Q’ KWD\“K&S .
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a 4.1. Av Ly, Ly givel xevovikes YAm0ooeC Tave oTo X7, T0TE Kal o1

Ozom

L1 M1 La, Ly — Lo esival kavovikec.
\-‘-



Ozopnna 7.2. O1 AOOGEC OVECOPTNTEC TUUPPALOUEVMY EIVOL KAEIOTEC C
TPOC TIC TPOCEIC Eveal), obvevwol] Kol aotepl Kleene.

H T’°(“;L°3 L gra. KoV (K¢S
7/

a 4.1. Av Ly, Ly givel xevovikes YAm0ooeC Tave oTo X7, T0TE Kal o1

Ozom

L1 M1 La, Ly — Lo esival kavovikec.
\-‘-

Ozopnua 9.2. O YAwoosC OVECOOTHTES TUUPPOACOUEYMYV 08V EIVOI KAEIOTES

MC TPOC TIC TPACEIC THS TOUNC Kol TOD GDUTANPOUATOC.



Qzopnua 9.2. O1 VOOOES GVECAPTNTES TUUPPOLOUEVIYV 08V EIVOI K/EIOTEC

W TPOC TIC TPACEIC THE TOMNC Kol ToD GUUTANPOUOTOC.

Amosarll: Exeivo mov MPETEL v KUVOLLLE vl Vo BpovUE 000 YAOCOGES L,
Kol Lo, 01 0M01eC eivot AT ET01 OGTE, OV TAPOvUIE TV Toun toug L = L1 M L.
TOTE 1| L o&v eivonl AL,

Epocov 101 yvaopilovus 0T 1 vadooa {01727 n = 0} dev sivon AZ. apkel

va Ppove 6o vimooss AT Ly ko1 Ly 1ét01eC 0te Ly MLy = {07127 | 1 =
0}, Avtd ouwme eivon edkoro. Ag sivon Ly = {071™2™ n.m = 0} xm
Ly = {0™172" n,m = 0}, o1 onoleg eivanr AZ. Eivol IpoQoveS OTL 1] TOL
TV 000 YAMOCGEV UIOTEAEITHL WO EKEIVEC TIC CUUPOAOCEIPES IOV EYOLV TOV

1010 op1Buo amo 0. 1 ko 2 dapo 6 wmopel vo sivor AT,



